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1. sin?x+cos™ x = (2) > (b) = (c) (d) -

2. The area of the curve y=+1-x> from x= -1 to x =1 is rotated about the

X-axis. Find the resulting surface area (a) % ) % © 2r (d)dx
dt

L

4. If x>0, 31334/; @ ® ()1 (©0 () x

= (a) sinhx (b) sin'x (c) x (d) x?

5. hm(\/n +n - n)= (a) = (b) - (©0 (d) %

n—so

6. fx -x* =2x% + 4x? —15x+§dx_
(x +1) (x +4)

(a)lln,xz+4f——3-tan'1§+2tan’lx+x2+1+C

(b)= ln,x +4, =tan™ 2x+2tan~' x + +C
x*+1

(©)= ln]x +4l Ztan Z 4 2tanx? + +C
2 x?+1

(d)= ln]x +4l--—tan 2x+2tan™ x* + +C
x? +1

7. Evaluate [sin(ln(x))dx = (a) -;—[sin(ln x)+ cos(lnx)]+ C
(b) %[sin(ln x)~cos(lnx)]+C
(© % [sin(ln x) + cos(In x)] +C

(d) %— [sin(ln x) - cos(ln x)] +C

8. Find the length of the arc of the cardioid 7 =1-cosd from =0 to 6 =27
@2() 4(c)8(d)12
1 1

. . 1 1
9. Find 5g(;3—;£;)= @0 ® = ©F @ -1

(F @54 E L)




1. (15%) Evaluate the following functions:
a. H_gxo(cos x)}i’ (5%)

b. fsinh™xdx (5%)
c. Find the derivatives of x*  (5%)

2. (10%) Prove that x = -1, ahd n isa positive integer, then
Q+x) 21+m
3. (10%) Show that
e dx 1-\/_
e e

4. (5%) Prove that

2 1 converges, and find its sum.
(nn+1) ‘

5. (10%) Prove that

J; " e x"dx m (reN) N is pbsitive integer.
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. _1 = d
10. Evaluate Z\/II—H+J; ()0 (b)-1 (c) > (d) oo
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